6" MIN |

f POSITION
OF GUY
i
&P
L
o
&
ES)
HENDRIX PART
ITEM YA DESCRIPTION ary
1 POLE-XX POLE (TYPE, CLASS & LENGTH AS REQ.) 1
2 SC-2C3.1 35.46KV, 3-PHASE PRIMARY - LARGE ANGLE ON "C" BRACKET 1
21 | BA335 BRACKET - ANGLE, "C" 1
22 | HDTC THIMBLE CLEVIS - 40,000 LBS. 2
23 | MG-0000 PREFORMED GRIP, MESSENGER (SIZE & KIND AS REQ)) 2
24 | 2P DOUBLE INSULATOR PLATE 3
25 | SSP2 INSULATOR PIN, SHORT SHANK, 3/4" W/ 1" NYLON THREAD B
26 | HPL35VTP-01 INSULATOR, 35kV VISE TOP, 1" PIN 6
27 | EBLT3/4 BOLT, EYE, 3/4" X REQ. LENGTH 2 | RED ITEMS ARE NOT SUPPLIED BY HENDRIX
28 | MBLT58 BOLT, MACHINE, 5/8" X REQ. LENGTH 2 M)
29 | SWSH5/8 WASHER, SQUARE, 5/8 X 2-1/4" 2 ®
210 | SWSH3/4 WASHER, SQUARE, 3/4 X 2-1/4" 4 r
211 | LWSH5/8 WASHER, SPRINGLOCK, 5/8" 2 *’en d ,x
212 | LWSH3/4 WASHER, SPRINGLOCK, 3/4" 2
213 | LNUT5/8 LOGKNUT, 5% 2 AERIAL CABLE SYSTEMS
3“4 SIE:NI;JI)?/S g%‘;fh'l‘é’;j& R 2 153 OLD WILTONRD. + MILFORD, NH 03055+ _(603) 673-2040
34 | POLEEYE-XX POLE-EYE PLATE (SIZE AND STRENGTH AS REQUIRED) 1| DESIGN PARAMETERS:
32 | GUYSTRAINXX __ |GUY STRAIN (SIZE & TYPE AS REQUIRED) 1 |KVCLASS:  35kV
33 | GUYSTRAND-XX _|GUY STRAND (SIZE AND TYPE AS REQUIRED) asreq] LINE ANGLE: 61-90
34 | ANCHORASSY-XX |ANCHOR AND ANCHOR ROD (SIZE AND TYPE AS REQUIRED) 1
4 SC-H.01G GROUNDING GUIDE SPACER CABLE 1 REVISION: 4
41 | CONNECTORXX |CONNECTOR (SIZE & TYPE AS REQUIRED) ASREQ 5
42 | GNDWIRE-XX GROUNDWIRE, COPPER, #6 AWG (MIN) (LENGTH AS REQ.) ASREQ 35KV, 3-PHASE PRIMARY DRAWING NO.:
43 | STAPLE-XX GROUND WIRE STAPE (SIZE & TYPE AS REQUIRED) ASREQ LARGE ANGLE AC 1 2 46'0 3
44 | GNDASSY-XX GROUND ASSEMBLY (TYPE AS REQ., NOT SHOWN) 1




	Sheet1
	Drawing View1
	Drawing View2


